Word Problems

Solve the following word problems.

James has to multiply 312 by 12 but mistakenly multiplies by 21.
What is the difference between James’ answer and the answer he should
have gotten?

Answer

Roger picked 124 oranges on Monday. On Tuesday he picked 48 more than
Monday and on Wednesday he picked 26 less than on Tuesday.
How many oranges did he pic altogether on both days?

Answer

The distance between Roy’s home and school is 78 metres. About how
many metres would Roy walk to school and back in 5 days?

Answer

Mr. Brown earns $3 498 dollars in one month. How much money will he
earn in 7 months?

Answer

A factory is packing biscuits into boxes of 12. How many boxes can be
packed with 2 472 biscuits?

Answer




